ECS 452: Exercise 6 Solution

Instructions
1.  Separate into groups of no more than three persons.
2. The group cannot be the same as any of your former groups. Name D
3. Only one submission is needed for each group. Prapu n 555
4.  Write down all the steps that you have done to obtain your answers.

You may not get full credit even when your answer is correct without
showing how you get your answer.
5. Do not panic.

Consider a convolution encoder represented by the following diagram
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a. Draw the corresponding state (transition) diagram
First, observe that +his encoder use o shift
na'«ﬁ'w with two FFs which i3 the same ad
in Be lectore. Thuepo-’c., Ye arvows will be
He same as what we L\aA 1n Yve lecYure
Nove, however, that He connections Maat proe\uce
e outputs ave JiHrevent Frem e encoder in lecture.
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b. Suppose the information input bits (the message bits) are 10110.
Find the corresponding codeword x

i. by using the direct method (filling out the table below)
and

ii. by “tracing” the corresponding path on the state diagram above
See He Yrace 1~ A:asram aboVve
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